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1 K A=A 40%40 ik 6

2 KE =B AR 60%60 7k 6

3 — KA v A 0. 6% % 3000
4 — YA SR A 0. 55# * 1275
5 — KA v A 0.7# a 1000
6 — A R A K 0. 6% a 200
7 — R AT R Ik A 0. 55# 53 100
8 — PR A R R % i i 100
9 — KA 2 20ml*1. 6 % 2700
10 — YA S A% 1ml 53 400
11 — IR 2 20m1 % 1760
12 — A S A 5ml*0. 6 53 1200
13 — KA A 10m1%0. 7 b 480
14 VISR 1004 /£ & 1
15 JE KRR R 200} /& & 1
16 PRSI BT ARG URS—11AN % 1300
17 — PR AR B K IMAE R 4% 2ml & £1 53 300
18 — MR A0 R LA 3 5ml e e X 300
19 — URHEAT R LA R 2ml 53 1500
20 — VR AR S B 5ml * 1500
21 H SZAE Ak A 500
22 IR E Iml X 600
23 — URHEATH PR AR g A 2000
24 — XM SR A 16F A 20
25 £ Riikss 10cm £ 130
26 AR 100m1 il 100
27 = F S A 7 250m1 i 5
28 ks 500ml 95% i 30
29 JBE A5 Hi 2K N5 @ 2
30 — M A R A 0. 35%50 53 10000
31 — YA JE R AT R & 0. 35%40 53 5000
32 H i H (ALB) 100m1 =5 1
33 RIA R ZEE LR T U & 54ml & 1
34 AR Z L R A ) & 176ml & 1
35 PRI 2 o & 176ml & 1
36 PR 2 5 T & 200m1 & 1
37 e JIE ] A v R 160m1 & 1
38 WLEFI 5 355 72ml & 1
39 e 5 R B 1 O ] 7 54ml =5 1
40 5% P R 2R 1 O T e ik 54ml & 1
41 N R g sh b 2R AR & (HIV) N iy 1080
42 NE A UE 5%1ml 5 1
43 Hi = R e R 160m1 & 1
44 120 i 53 b FRRE R M-5D (20L) 14 4
45 I RPNA —if % 3000
46 AR SEEW S iy 1000
47 DW= 25 N/ & #r 25
48 C I 35 i 75 e b B 25 N/ & r 25
49 P4 R 25 N/ & iy 25
50 Nt B 7R &9 bR JoA i 44 25 \/ & iy 25
51 KT = T3 25 N/ & iy 25
52 D- Bk 25 N/ & r 25




